
Name_____________________________ Period_______ Date_____________________ 

Area of a Trapezoid 

 

1) A=________      2) A=________        3) A=________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

4) A=________            5) A=________   6) A=_______ 

 

 

 

 

 

 

 

 

 

 

 

 

 

7) A=________            8) A=________   9) A=________ 
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10) A=________      11) A=________        12) A=________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

13) A=________         14) A=________   15) A=_______ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16) A=________            17) A=________  18) A=________ 
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Name ____ANSWER KEY___________ Period_______ Date_____________________ 

Area of a Trapezoid 

 

1) A=99 sq. ft.       2) A=8 sq. mi.               3) A=24 sq. mm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

4) A=32 sq. in.            5) A=72 sq. m.   6) A=60 sq. ft. 

 

 

 

 

 

 

 

 

 

 

 

 

 

7) A=55 sq. cm.            8) A=21 sq. yd.  9) A=33 sq. in. 
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10) A=60 sq. ft.      11) A=540 sq. mi.        12) A=72 sq. mm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

13) A=36 sq. in.         14) A=125 sq. m.   15) A=105 sq. ft. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16) A=25 sq. cm.            17) A=63 sq. yd.  18) A=65 sq. in. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7
 f

t 

29 miles 

25 miles 

13 mm 

9
 m

m
 

2
0
 m

il
es

 

1
3
 f

t 

6 ft 

3 mm 
8
 i

n
 

1
0
 i

n
 

4 in 

4
 c

m
 

6
 c

m
 5 cm 

10 m 

15 m 

1
0
 m

 

12 ft 

9 ft 

1
0
 f

t 

8 yd 

6 yd 

9
 y

d
 

16 in 

10 in 

5
 i

n
 


